9| IMsg<zrEpEmkhle | 9| o o
3
NS %% £ L#(R0) 1 T bl 1 1 O NS = #3e(0 10
EW i3 #3350 a e EW me = #is (B0
B# | DL | £ % Fall BB ik REAA | COP Datum
" Zmzss [ NS [ EW | 25235 | NS | EW | #1 | #10 | #1 [#10| #1 [#10|| Mean | Ns | EW
21| N | NS 4SN4 620 4SN6 680 60 2 NS510 | 3 -5
22| E | EW 3NN5 460 3NN3 400 60 2 NS420 | 1 1
23| s |Both| 3NE3 600 3NW3 600 EW380 | -6 6
24 | W |None|  4HS6 480 4HN5 450 30 1 NS380 | 3 2
25| N |EW| 4DE-1 100 3HXN3 | 530 430 10 EW10 | 3 1
26 | E |Both| 4ss6 680 485 650 30 1 NS710 | -1 2
27 | S |None]  6NN6 990 6NN6 990 NS950 | 1 -
28| W | NS | 4sw-1 50 2DN-3 300 | 350 8 EW10 | 2 7
29 | N |Both| 6swe 1430 6HEG 1430 EW940 | -10 10
30 | E |None] 2SN4 170 4SN4 420 250 6 NS360 | -5 2
f3- INP| 12 | 18 9 | 5
A o .
B 1 I % 10 Dragonite
+ B IMP 12 18
£ INP 12 18 P
& 2VP 7.82 12.18
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NS ¢33 ®x2w®0 2 T bl 2 1 2 NS #z% #3150
EW 27% #i2(FO a e EW 4% 125 (R0
B# | DL | £ % Fall BB ik REAA | COP Datum
M 2mzaex | Ns | EW | 25zgx | Ns | EW | #2 | #12 | #2 |#12| #2 |#12 || Mean | Ns | EW
21| N | NS 3SN5 200 4SN5 650 450 10 NS510 | -7 4
22| E |EW| 3Ns4 430 3NN4 430 NS420
23| S |Both|  3NE-1 100 3NW3 600 | 700 12 EW380 | 10 6
24 | W |None|  4Hs5 450 4HN6 480 30 1 NS380 | 2 -3
25| N |EW| 3Nw4 630 4SN-1 50 580 11 EW10 | -12 1
26 | E |Both| 6sSN6 | 1430 6SS-1 100 | 1530 17 NS710 | 12 13
27| S |None|  6NN6 990 6NN6 990 NS950 | 1 -
28| W | NS | 4sw- 50 3SW-1 50 EW10 | 2 2
29 | N |Both| 6Nwe 1440 5SW5 650 790 13 EW940 | -11 7
30 | E |None| 2cs5 150 4SN4 420 270 7 NS360 | -5 2
#3+ IMP| 29 |42 8 | 1
BE 2 ¥ 12 Sl
+ B INP 29 42
£ I0P 29 42
2 VP 5.72 14.28
b
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Table 3

13 NS =#% mg®(F0)

10
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L)

EW $i&% £53(F0) EW 2% Be&(F0)
B# | DL | £ % Fall BB ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #3 | #13 | #3 [#13| #3 [#13 || Mean NS EW
21| N | NS 4SN5 650 4SN5 650 NS510 4 -4
22 | E | EW 3NN4 430 3NS4 430 NS420
23 | S |Both 3NW3 600 3NE3 600 EW380 -6 6
24 | W |None 4HS6 480 4HS6 480 NS380 3 -3
25| N | EW 4HXN-1 100 4HXN-1 100 EW10 -3 3
26 | E |Both 6SN-1 100 4SS5 650 750 13 NS710 -13 2
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 4SW-1 50 2SE2 110 | 160 4 EW10 2 3
29 | N |Both 4SW6 680 5SE5 650 30 1 EW940 6 -7
30 | E |None 4HN5 450 4HN5 450 NS360 3 -3
a3 INP| 4 |14 3 | -4
2 3
#* 3 Oceans 13 > @

B INP 4 14

&3+ IMP 4 14 »

# 35VP 6.57 13.43
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NS 2@ xR0 4 T bl 4 8 NS 234 ®#1(FO0
EW #7232 =93(FO0 aple EW ik 24 (RO)
B# | DL | £ % Fall BB ik REAA | COP Datum
[ 2mxg» [ Ns [EW | 53 | NS [ EW | #4 | #8 | #4 ] #8 | #4[#8 || Mean | Ns | EW
21| N | NS 2SN6 230 4SN5 650 420 9 NS510 | -7 4
22| E |EW| 3NN4 430 3NN3 400 30 1 NS420 1
23| S |Both| 3NW-1 | 100 3NW3 600 | 700 12 EW380 | 10 6
24 | W |None[  4HS5 450 4HS5 450 NS380 | 2 2
25| N |EW| 4DE4 130 4HN-1 50 80 2 EW10 | -3 1
26 | E |Both| 6SS6 | 1430 65S6 | 1430 NS710 | 12 | -12
27| S |None[  6NN6 990 5HS5 450 540 11 NS950 | 1 11
28| W | NS | 2sws4 170 4sW-2 | 100 270 7 EW10 | -4 -3
29 | N |Both|  6HE6 1430 | 3NW6 690 740 12 EW940 | -10 -6
30 | E |None[  3SN4 170 4HN5 450 280 7 NS360 | -5 -3
@3- IMP| 24 |37 -4 | 11
%44 4
5 4 ,f%l;':( *< 8 AR
* B NP 24 37
&3+ IMP 24 37 »
o 3VP 5.72 14.28
b
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Table 5

7

NS +#% % #3#(P0)
EW 273 mp2(B0)

10

L)

B# | DL | £ % Fall BB ik REAA | COP Datum
L tyze% | NS | EW | c2¥zu3% | NS | EW | #6 | #7 | #6 | #7 | #6 | #7 || Mean | Ns EW
21| N | NS 4SS4 620 4SN4 620 NS510 3 -3
22| E | EW 3NS4 430 3NS4 430 NS420
23 | S |Both 3NE3 600 3NE3 600 EW380 -6 6
24 | W |None 4HN6 480 4HS4 420 60 2 NS380 3 -1
25| N | EW 4SN4 420 4HXN-1 100 520 1 EW10 10 3
26 | E |Both 5885 650 6SN6 1430 780 13 NS710 -2 -12
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 1SW2 110 4SW-2 100 210 5 EW10 -3 -3
29 | N |Both 58W5 650 4SW7 710 60 2 EW940 7 -6
30 | E |None 4HN5 450 5HN5 450 NS360 3 -3
#3- INP| 15 |18 16 | -20
LAy
B 6 EN o 7 Cyclops
B INP 15 18
&3 INP 15 18 B
2 VP 8.86 11.14
b
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11

NS zv i3 2%%7(F0
EWE2@3 %33 (R0)

B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 2nzms | NS [ EW | 2925% | NS | EW | #9 | #11 | #9 [#11] #9 [#11 || Mean | Ns EW
21| N | NS 1NS2 120 2SN5 200 80 2 NS510 -9 7
22 | E | EW 3NN4 430 3NN4 430 NS420
23 | S |Both 3NE-1 100 2HE3 140 240 6 EW380 10 -6
24 | W |None 4HS5 450 6HS-1 50 500 1 NS380 2 10
25| N | EW 4HN-1 50 4SS-1 50 EW10 -1 1
26 | E |Both 6SN6 1430 4SS5 650 780 13 NS710 12 2
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 2NW-1 50 4SW-2 100 50 2 EW10 2 -3
29 | N |Both 6NW6 1440 55W6 680 760 13 EW940 -11 -6
30 | E |None 4HN5 450 4SN4 420 30 1 NS360 3 -2
#3+ INP|31 [17 9 | 2
B 9 4 ki#EHKE |11 Challenge Madam
+ B INP 31 17
£ 1NP 31 17 “
2 VP 14.54 5.46
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5 |Table 7

| 9

14 NS #%# m2g(PC0)
EW :E&m stiaik (B0)

B# | DL | £ % Fall BB ik REAA | COP Datum
* tyze% | NS | EW | 2¥z23% [ NS | EW | #5 | #14 | #5 [#14] #5 [#14 || Mean | Ns EW
21 N NS 4SN4 620 4SS5 650 30 1 NS510 3 -4
22| E | EW 3NN4 430 3NS4 430 NS420
23 | S |Both 3NW3 600 2HE3 140 460 10 EW380 -6 -6
24 | W [None 4HS6 480 6HN-1 50 530 1 NS380 3 10
25| N | EW 4HXN-1 100 2HN2 110 210 5 EW10 -3 -3
26 | E |Both 6SS-1 100 6SS-1 100 NS710 -13 13
27 | S [None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 4SW-1 50 2SW2 110 160 4 EW10 2 3
29 | N |Both 5HE6 680 4HEG6 680 EW940 6 -6
30 | E [None 2SN4 170 4SN4 420 250 6 NS360 -5 -2
@3t IMP| 15 | 22 A2 | 4
B 5 Woods 14 Catchall
* B IMP 15 22
23+ NP 15 22 p
- 3VP 7.49 12.51
4
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9 | 1142 X F 2RBERF HL e | 9
NS 2% #342(F0) 1 0 T bl 1 1 NS %% E23(B0)
EW Mm% 345 (R0) apie EW iz #a3#(PC)
B# | DL | £ % MEZ g ik REAA | COP Datum

* tyze% | NS | EW | c2¥zs% | NS | EW | #10 | #1 [#10] #1 [#10] #1 Mean | NS EW
21 N | NS 4SN6 680 4SN4 620 60 2 NS510 5 -3
22| E | EW 3NN3 400 3NN5 460 60 2 NS420 -1 -1
23 | S |Both 3NW3 600 3NE3 600 EW380 -6 6
24 | W |None 4HN5 450 4HS6 480 30 1 NS380 2 -3
25| N | EW 3HXN3 530 4DE-1 100 430 10 EW10 11 -3
26 | E |Both 4SS5 650 4SS6 680 30 1 NS710 -2 1
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 2DN-3 300 4SW-1 50 350 8 EW10 -7 -2
29 | N |Both 6HE6 1430 6SW6 1430 EW940 -10 10
30 | E |None 4SN4 420 2SN4 170 250 6 NS360 2 5
A3 IMP| 18 |12 5 | 9
. X e
B3 10 Dragonite 1 =

* [®| IMP 18 12

&3 IMP 18 12 ]

# H-VP 12.18 7.82
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EW #4% 812580 a e EW 3+5% H#2FO
B# | DL | £ % MEZ g ik REAA | COP Datum
Y[ 22z [ Ns | EW | 2922% | Ns | EW | #12 | #2 [#12] #2 [m2] #2 || Mean | Ns | EW
21| N | NS 4SN5 650 3SN5 200 450 10 NS510 | 4 7
2| E | EW 3NN4 430 3NS4 430 NS420
23| s |Both| 3NW3 600 3NE-1 100 700 12 EW380 | -6 -10
24 | W |None|  4HN6 480 4HS5 450 30 1 NS380 | 3 -2
25| N |EW| 4SN-1 50 3NW4 630 | 580 1 EW10 | -1 12
26 | E |Both| 6SS-1 100 6SN6 1430 1530 17 NS710 | 13 | -12
27 | S |None]  6NN6 990 6NN6 990 NS950 | 1 v
28 | W | NS 3SW-1 50 4SW-1 50 EW10 | 2 -2
29 | N |Both| 5swWs 650 6NW6 1440 | 790 13 EW940 | 7 1
30| E |None| 4sN4 420 2CSs5 150 270 7 NS360 | 2 5
B3 INP| 42 |29 4 | 8
B 12 A 2 s
* [®| IMP 42 29
&3 INP 42 29 ”
# 3-VP 14.28 572
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NS 2% my=(F0)
EW % 5&E&(P0) 13 Table 3

3 NS s 2 32(R0)
EW #ax £8x2(F0)

10

L)

B# | DL | £ % MEZ g ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #13 | #3 [#13| #3 |#13| #3 Mean NS EW
21| N | NS 4SN5 650 4SN5 650 NS510 4 -4
22 | E | EW 3NS4 430 3NN4 430 NS420
23 | S |Both 3NE3 600 3NW3 600 EW380 -6 6
24 | W |None 4HS6 480 4HS6 480 NS380 3 -3
25| N | EW 4HXN-1 100 4HXN-1 100 EW10 -3 3
26 | E |Both 4SS5 650 6SN-1 100 || 750 13 NS710 -2 13
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 2SE2 110 4SW-1 50 160 4 EW10 -3 -2
29 | N |Both 5SE5 650 4SW6 680 30 1 EW940 7 -6
30 | E |None 4HN5 450 4HN5 450 NS360 3 -3
w3 IMP| 14 | 4 4 3
2 3
B 13 Z 12 3 Oceans
+ B INP 14 4
&3 INP 14 4 ;
# 35VP 13.43 6.57
s
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9 | 1142 X F 2RBERF HL e | 9
NS %4 #®9 (FO) 8 T bl 4 4 NS #Zm Ex$(R0)
EW +#&#i ®28(R0) a e EW #2312 =93 (F0
B# | DL | £ % MEZ g ik REAA | COP Datum
L txzex | NS | EW | 223 | NS | EW | #8 | #4 | #8 | #4 | u8 | #4 Mean NS EW
21| N | NS 4SN5 650 2SN6 230 420 9 NS510 4 7
22| E | EW 3NN3 400 3NN4 430 30 1 NS420 | 1
23 | S |Both 3NW3 600 3NW-1 100 700 12 EW380 | -6 -10
24 | W |None 4HS5 450 4HS5 450 NS380 2 2
25| N | EW 4HN-1 50 4ADE4 130 | 80 2 EW10 -1 3
26 | E |Both 6SS6 1430 6SS6 1430 NS710 | 12 12
27 | S |None 5HS5 450 6NN6 990 540 11 NS950 | -11 -1
28 | W | NS 4SW-2 100 2SW4 170 | 270 7 EW10 3
29 | N |Both 3NW6 690 6HE6 1430 | 740 12 EW940 | 6
30 | E |None 4HN5 450 3SN4 170 280 7 NS360 3
szt TMP| 37 | 24 1
4 - 4k
25 8 dijm 4 M=
* B IMP 37 24
£3-THP 37 24 ;
# H-VP 14.28 5.72
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7
NS 3 #H% %33 (F0) 7 T bl 5 6 NS % mEx(RO0)
EW 2z B32(RO0) apile EW %4 ###(P0)
B# | DL | £ % MEZ g ik REAA | COP Datum
L tyzx% | NS | EW | 2x9223% | NS | EW | #7 | #6 |#7 | #6 | #7 | #6 Mean NS EW
21 N NS 4SN4 620 4SS4 620 NS510 3 -3
22 | E | EW 3NS4 430 3NS4 430 NS420
23 | S |(Both 3NE3 600 3NE3 600 EW380 -6 6
24 | W (None 4HS4 420 4HN6 480 60 2 NS380 1 -3
25| N | EW 4HXN-1 100 4SN4 420 520 1 EW10 -3 -10
26 | E |Both 6SN6 1430 5SS5 650 780 13 NS710 12 2
27 | S [None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 4SW-2 100 1SW2 110 210 5 EW10 3 3
29 | N (Both 4SW7 710 5SW5 650 60 2 EW940 6 -7
30 | E [None 5HN5 450 4HN5 450 NS360 3 -3
@3t IMP|18 |15 20 | 16
VY e
B 7 Cyclops 6 o
* B IMP 18 15
&3 INP 18 15 X
- 3VP 11.14 8.86
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9 | 1142 X F 2RBERF HL e | 9
NS =eip =%£7(F0) 1 1 T bl 6 9 NS &g wpE(R0)
EW £#@3 $%35 3 (R0) a e EW s finss< (FC)
B# | DL | £ % MEZ g ik REAA | COP Datum
* tyze% | NS | EW | 2¥z23% [ NS | EW | #11 | #9 [#11] #9 [#11] #9 || Mean | Ns EW
21| N | NS 2SN5 200 1NS2 120 80 2 NS510 -7 9
22 | E | EW 3NN4 430 3NN4 430 NS420
23 | S |Both 2HE3 140 3NE-1 100 240 6 EW380 6 -10
24 | W |None 6HS-1 50 4HS5 450 500 1 NS380 -10 -2
25| N | EW 4SS-1 50 4HN-1 50 EW10 -1 1
26 | E |Both 4SS5 650 6SN6 1430 780 13 NS710 -2 -12
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 4SW-2 100 2NW-1 50 50 2 EW10 3 -2
29 | N |Both 5SW6 680 6NW6 1440 | 760 13 EW940 6 1
30 | E |None 4SN4 420 4HN5 450 30 1 NS360 2 -3
B3+ INMP| 17 | 31 2 | -9
~ RE 2
B 11  Challenge Madam | 9 4 EJERE
+ B IMP 17 31
£ INP 17 31 "
VP 5.46 14.54
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Table 7

[9 ]

MR 5 H(R0)

5 NS
EW zwfe m= (B0

L)

B# | DL | £ % MEZ g ik REAA | COP Datum
* tyze% | NS | EW | 2¥z23% [ NS | EW | #14 | #5 |#14] #5 |#14] #5 || Mean | Ns EW
21 N NS 4SS5 650 4SN4 620 30 1 NS510 4 -3
22| E | EW 3NS4 430 3NN4 430 NS420
23 | S |Both 2HE3 140 3NW3 600 460 10 EW380 6 6
24 | W [None 6HN-1 50 4HS6 480 530 11 NS380 -10 -3
25| N | EW 2HN2 110 4HXN-1 100 210 5 EW10 3 3
26 | E |Both 6SS-1 100 6SS-1 100 NS710 -13 13
27 | S [None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 2SW2 110 4SW-1 50 160 4 EW10 -3 -2
29 | N |Both 4HEG6 680 5HE6 680 EW940 6 -6
30 | E [None 4SN4 420 2SN4 170 250 6 NS360 2 5
@3t IMP| 22 |15 4 | 12
B 14 Catchall 5 Woods
* B IMP 22 15
&L INP 22 15 ;
- 3VP 12.51 7.49
¥t




